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They argue concerning — YRR N2YRY N30 7% M2 Y2 v 90
'37p92 B¥'; one master maintains that it connotes a past tense.

OVERVIEW

The X3 cites a dispute concerning the 71972 to be made before y»n np>73; one
opinion is the 71972 should be 7w2% while the other opinion maintains that it should
read 2 Hv. Everyone agrees that the term 72 refers to the future (and therefore
it is an acceptable 7197277 on). The dispute is concerning the term ¥ 5¥'; one
maintains that it is a past tense (and therefore unacceptable since the mxni N1372
are required to be recited Jn»WyY 72W; a past tense 71972 indicates the m¥n was
already performed); while the other maintains that it indicates a future tense (and
therefore an acceptable 7157277 r1oM).

*

— N2AY NYD 93 YRUN DIPN Y91 YAR NANYM 29V YNRUN 1ayYY 0N 19934 Jua
The n''7 explained that (when the X 13 states that Mv°2 5y is vawn 72yW9, it means
that) it connotes the past tense more than the future tense; however 11v°2 5y also

connotes partially the future tense as well’ -
— 92yYY NN NANY D9 ynvn N ONY

For if 11v°2 %v does not connote the future tense at all; only the past tense, then —
— 951 119N INDT 90 RY 9INY 81D 71D 9INRD 950 19 BN

If that is so, how does the X 13 shortly state ‘shall he say "™%%'; this cannot be
for is it not sufficient unless he is ®1%?!° Therefore it is preferable to say 72°n77 9v.

Mmoo concludes his proof that ¥ can also refer to the future:
$9PVY IR 1PNY PYT1 NN PNY Drava )
Is it indeed so that because we do not know how to institute a proper text, that

he should state a falsehood?! If >y refers only to the past tense how can the %7 state 9y
nonn (referring to the past) when in truth the 77> will be performed in the future (after the 7572).
Therefore we are forced to conclude that ¥ (even though it is more indicative of the past) can
also refer to the future. Therefore the 77 says "1 23" (which can indicate the future tense, and

! The xm3 teaches us (later) that we are ™y 92w 7730 (before we perform the 71xn).

? The term w0 indicates that M20n is negating the obvious explanation, which is that 719°2 v means ‘only’ 12yw®.

? ymwn 929w does not mean that 71372 %¥ indicates only the past tense.

* The X3 shortly asks (on the view that "' indicates the past), why do we say 7271 99" if %¥ indicates the past. The
X713 replies; ‘what else should we say: 21m2?! We cannot say 2117, for the word 917 indicates that it is obligatory on
the one making the 71372 to perform the 717°»; when in truth it is not his obligation.” Therefore it is preferable to say
'm0 7', where there is no such inference that he must perform the 777.
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also infers that the 971 is not obligated to perform the 7%9°1).

SUMMARY
The term %V (even according to the 7"» who maintains ¥nwn 22vwY) can also apply
to the future (thereby explaining the 7572 of 7777 Hv).

THINKING IT OVER
Can the term %', also refer (slightly) to the past?

5 See previous Tya%2 13"7 (X,T) Mmoo,
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